
%ROHWtQ�2ILFLDO

$<817$0,(1726
²²²²

0$,5(1$�'(/�$/-$5$)(

3RU�5HVROXFLyQ�GH�$OFDOGtD�Q�������������GH����GH�PDU]R�GH�������VH�SURFHGH�DO�QRPEUDPLHQWR�GH�IXQFLRQDULRV�GH�FDUUHUD�GHO�
$\XQWDPLHQWR�GH�0DLUHQD�GHO�DOMDUDIH��VLHQGR�HO�WH[WR�tQWHJUR�GH�ODV�PLVPDV�HO�VLJXLHQWH��

(Q�OD�YLOOD�GH�0DLUHQD�GHO�$OMDUDIH��HO�$OFDOGH�3UHVLGHQWH�GHO�$\XQWDPLHQWR�GH�0DLUHQD�GHO�$OMDUDIH��GRQ�$QWRQLR�&RQGH�6iQ�
FKH]��KD�GLFWDGR�OD�VLJXLHQWH�UHVROXFLyQ�

1RPEUDPLHQWR�GH�IXQFLRQDULRV�GH�FDUUHUD�GHO�$\XQWDPLHQWR�GH�0DLUHQD�GHO�$OMDUDIH�

GHO�$OFDOGH�3UHVLGHQWH�Q��������������GH����GH�GLFLHPEUH�GH������

�

$OFDOGH�3UHVLGHQWH�Q�������������GH����GH�HQHUR�GH������

/RFDO��HO�$OFDOGH�3UHVLGHQWH�GLVSRQH��

�
UUHVSRQGDQ�FRQ�DUUHJOR�D�OD�OHJLVODFLyQ�YLJHQWH�

OD�OHJLVODFLyQ�YLJHQWH�

�

4XLQWR�²�'DU�WUDVODGR�GH�OD�SUHVHQWH�D�ODV�SHUVRQDV�LQWHUHVDGDV��ÈUHDV�GH�6HFUHWDUtD��,QWHUYHQFLyQ�\�5HFXUVRV�+XPDQRV�GH�

/R�TXH�VH�KDFH�S~EOLFR�SDUD�VX�JHQHUDO�FRQRFLPLHQWR�

0DLUHQD�GHO�$OMDUDIH�D����GH�PDU]R�GH������²�(O�$OFDOGH�3UHVLGHQWH��$QWRQLR�&RQGH�6iQFKH]�

�:�����

²²²²

0$,5(1$�'(/�$/-$5$)(

'RxD�0DUWD�$ORQVR�/DSSL��9LFHSUHVLGHQWD�GH�OD�*HUHQFLD�0XQLFLSDO�GH�8UEDQLVPR�GHO�([FPR��$\XQWDPLHQWR�GH�HVWD�YLOOD�

+DFH� VDEHU�� 4XH� SRU� UHVROXFLyQ� GH�$OFDOGtD� Q��� ��������� GH� IHFKD� ��� GH� HQHUR� GH� ����� VH� DSUXHED� LQLFLDOPHQWH�� FRQ�

/R�TXH�VH�VRPHWH�D�LQIRUPDFLyQ�S~EOLFD�\�DXGLHQFLD�D�ORV�LQWHUHVDGRV�SRU�SOD]R�GH�XQ�PHV��FRQWDGRV�D�SDUWLU�GHO�GtD�VLJXLHQWH�

8UEDQLVPR� GHO�$\XQWDPLHQWR� GH�0DLUHQD� GHO�$OMDUDIH�� VLWD� HQ� OD� FDOOH�1XHYD�� ���� DVt� FRPR� HQ� HO� SRUWDO� GH� WUDQVSDUHQFLD� \� HQ� OD�
SiJLQD� ZHE� GHO� $\XQWDPLHQWR� KWWS���ZZZ�PDLUHQDGHODOMDUDIH�HV�HV�D\XQWDPLHQWR�RUJDQLVPRV�\�VRFLHGDGHV�JHUHQFLD�PXQLFLSDO�GH�
XUEDQLVPR�'RFXPHQWRV�XUEDQLVWLFRV�HQ�H[SRVLFLRQ�SXEOLFD���SDUD�TXH�SXHGDQ�IRUPXODUVH�ODV�DOHJDFLRQHV�TXH�VH�HVWLPHQ�SHUWLQHQWHV��
HQ�FXPSOLPLHQWR�GH�OR�SUHFHSWXDGR�HQ�ORV�DUWV�������������\����GH�OD�/H\��������GH�2UGHQDFLyQ�8UEDQtVWLFD�GH�$QGDOXFtD�

0DLUHQD�GHO�$OMDUDIH�D����GH�HQHUR������²/D�9LFHSUHVLGHQWD��0DUWD�$ORQVR�/DSSL�

�:�����3

²²²²

3('5(5$

�GH�GHWDOOH�


